National Testing Agency

Question Paper Name: Agricultural Science 21st March 2024 Shift 3
Subject Name : Agricultural Science

Creation Date : 2024-03-21 22:44:26

Duration : 105

Total Marks : 300

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time :

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

SectionId :

Section Number:

Yes

Agricultural Science

1
878270636
0

105

No

No

300
No
Cant View

No

Agricultural Science

8782701093

1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 8782701983
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 1 Question Id : 87827052489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Chromosomal aberration in which two breaks occur ina chromosome and the intercalary segment reunites in a reverse
order is categorised as :

1. Duplication

2. Translocation

3. Inversion

4. Segmental duplication

Options :

878270206541. 1
878270206542. 2
878270206543. 3

878270206544. 4

Question Number : 1 Question Id : 87827052489 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270206541. 1
878270206542. 2
878270206543. 3
878270206544. 4

Question Number : 2 Question Id : 87827052490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Mutation was first discovered by

- Muller

- De Vries

- Seth Wright
_ Stadler

L

Options :

878270206545. 1
878270206546. 2
878270206547. 3

878270206548. 4



Question Number : 2 Question Id : 87827052490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270206545. 1
878270206546. 2
878270206547. 3

878270206548. 4

Question Number : 3 Question Id : 87827052491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In which ministry, the Genetic Engineering Appraisal Committee (GEAC) was set up?

1. Ministry of Environment, Forest and Climate Change

2. Ministry of Agriculture and Farmers Welfare

3. Ministry of Consumer Affairs, Food and Public Distribution
4 Ministry of Corporate Affairs

Options :

878270206549. 1
878270206550. 2
878270206551. 3

878270206552. 4



Question Number : 3 Question Id : 87827052491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270206549. 1
878270206550. 2
878270206551. 3

878270206552. 4

Question Number : 4 Question Id : 87827052492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following varieties is hybnd in rice crop?

1. IR -64

2 CSR-30
3. PRH-10
4 Pusa 44

Options :
878270206553. 1
878270206554. 2

878270206555. 3



878270206556. 4

Question Number : 4 Question Id : 87827052492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.1R -64
2 CSR-30
3. PRH-10
4. T 44

Options :

878270206553. 1
878270206554. 2
878270206555. 3
878270206556. 4

Question Number : 5 Question Id : 87827052493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll

(Scientist) (Contribution)

(A). TH. Morgan (). Restriction endonucleases
(B). Kornberg (IIN. Recombinant DNA

(C). Nathan and Smith{(l1l}. Sex-linked inheritance

(D). Paul Berg (V). DNA polymerase

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (1), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)

Options :

878270206557. 1
878270206558. 2
878270206559. 3
878270206560. 4

Question Number : 5 Question Id : 87827052493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1.(A)- (1), (B) - (IN), (C) - {|||:| (D) - (IV)
2 (A) - (1), (B) - |||} (C)- (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (V). (D) - (Ill)
4. (A) - (1IN, (B) - {WH ) - (1), (D) -(I1)
Options:

878270206557. 1
878270206558. 2
878270206559. 3

878270206560. 4

Question Number : 6 Question Id : 87827052494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements about seed are correct?
{A). Progeny of nucleus seed is breeder seed.

(B). TZ test is for evaluation of field performance of seed
(C). Seed rate of wheat is 100 kg/ha

(D). Tobacco is the example of smallest seed

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).

4 (A), (C)and (D) only

Options :

878270206561. 1
878270206562. 2
878270206563. 3

878270206564. 4

Question Number : 6 Question Id : 87827052494 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @ad (A), (C) 3R (D)

Options :

878270206561. 1
878270206562. 2
878270206563. 3

878270206564. 4

Question Number : 7 Question Id : 87827052495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements about Hammerling's experiment on Acetabulana is/are correct?
(A). It demonstrates that Acetabulana is a unicellular organism.

(B). It demonstrates the role of cytoplasm in heredity

(C). It demonstrates the role of nucleus in heredity

(D). It demonstrates the role of cytoplasm in determining rhizoid shape

Choose the correct answer from the options given below:

Options :

878270206565. 1
878270206566. 2
878270206567. 3

878270206568. 4

Question Number : 7 Question Id : 87827052495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270206565. 1
878270206566. 2
878270206567. 3

878270206568. 4

Question Number : 8 Question Id : 87827052496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Linkage drag is the phenomenaon in which-

1. The undesirable genes also get transferred along with the desirable genes.

2. Only the desirable genes from donor parent get transferred.

3. The frequency of recombination between the desired and unwanted genes is increased.
4 The unwanted genes are eliminated from the population.

Options:

878270206569. 1
878270206570. 2
878270206571. 3



878270206572. 4

Question Number : 8 Question Id : 87827052496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270206569. 1
878270206570. 2
878270206571. 3

878270206572. 4

Question Number : 9 Question Id : 87827052497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a pea flower, five petals are arranged in a specialised manner with one posterior, two lateral and two anterior. These are
namedas ... ....and..... respectively.

1. Wing, Keel and Standard
2. Keel, Wings and Standard
3. Standard, Wings and Keel
4 Wing, Standard and Keel

Options :
878270206573. 1

878270206574. 2



878270206575. 3

878270206576. 4

Question Number : 9 Question Id : 87827052497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270206573. 1
878270206574. 2
878270206575. 3

878270206576. 4

Question Number : 10 Question Id : 87827052498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Linkage equilibrium can be achieved by:

~Selfing

- Random mating
_ Sibling crossing
. Crossing

L

Options :



878270206577. 1
878270206578. 2
878270206579. 3

878270206580. 4

Question Number : 10 Question Id : 87827052498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270206577. 1
878270206578. 2
878270206579. 3

878270206580. 4

Question Number : 11 Question Id : 87827052499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the term for the negative effect that a host plant has on the growth of an insect-pest that feeds on it?

1 Antixenosis

2. Antibiosis

3. Non-preference
4 Tolerance

Options :



878270206581. 1
878270206582. 2
878270206583. 3

878270206584. 4

Question Number : 11 Question Id : 87827052499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270206581. 1
878270206582. 2
878270206583. 3

878270206584. 4

Question Number : 12 Question Id : 87827052500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following could be the valid value(s) of the correlation coefficient between two variables?

(D). +2
Choose the correct answer from the options given below:

1. (A) only

2. (A) and (B) both

3. (A), (B), (C) and (D).
4. (B) only.

Options :

878270206585. 1
878270206586. 2
878270206587. 3

878270206588. 4

Question Number : 12 Question Id : 87827052500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270206585. 1
878270206586. 2
878270206587. 3

878270206588. 4

Question Number : 13 Question Id : 87827052501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Conservation Agriculture include adoption of -

{A). burning of crop residues to manage pests.

(B). minimum tillage

(C). crop rotations

(D). mulching

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270206589. 1
878270206590. 2
878270206591. 3

878270206592. 4

Question Number : 13 Question Id : 87827052501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270206589. 1
878270206590. 2
878270206591. 3

878270206592. 4

Question Number : 14 Question Id : 87827052502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Diammonium phosphate contains-

1. 46% N and 18% P05
2. 18% N and 46% P;0s5
3. 20% N and 20% P;0s5
4 46% N and 20% P;0s5

Options:
878270206593. 1

878270206594. 2



878270206595. 3

878270206596. 4

Question Number : 14 Question Id : 87827052502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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46% N 3R 18% P,05
18% N 3R 46% P,05
- 20% N 3R 20% P,05
46% N 3R 20% P,05
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Options:

878270206593. 1
878270206594. 2
878270206595. 3

878270206596. 4

Question Number : 15 Question Id : 87827052503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the approximate composition of biogas, generated after decomposition of bio-degradable agricultural waste?

1. 55-65% of methane, 35-44% of carbon dioxide and traces of other gases.
2. 35-44% of methane, 55-65% of carbon dioxide and traces of other gases.
3. 50% of methane and 50% of carbon dioxide and no other gases

4 25-35% of methane, 65-75% of ammonia and traces of other gases

Options :

878270206597. 1



878270206598. 2
878270206599. 3

878270206600. 4

Question Number : 15 Question Id : 87827052503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270206597. 1
878270206598. 2
878270206599. 3
878270206600. 4

Question Number : 16 Question Id : 87827052504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Food Corporation of India was established in which year?

1. 1975
2.1935
3. 1965
41967

Options :

878270206601. 1



878270206602. 2
878270206603. 3

878270206604. 4

Question Number : 16 Question Id : 87827052504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.1975
2 1935
3. 1965
41967

Options:

878270206601. 1
878270206602. 2
878270206603. 3
878270206604. 4

Question Number : 17 Question Id : 87827052505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is the good example of subsistence farming?

. Organic farming

. Commercial farming

. Extensive and Intensive farming
- shifting cultivation

B T o

Options :



878270206605. 1
878270206606. 2
878270206607. 3

878270206608. 4

Question Number : 17 Question Id : 87827052505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270206605. 1
878270206606. 2
878270206607. 3

878270206608. 4

Question Number : 18 Question Id : 87827052506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What was the India's food grain production in 2021-227?

1. 310.7 million tonnes
2. 315.7 million tonnes
3. 297.5 million tonnes
4. 305.7 million tonnes

Options :



878270206609. 1
878270206610. 2
878270206611. 3

878270206612. 4

Question Number : 18 Question Id : 87827052506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty 2021-22 H YR &1 TeTd Id6A fagr ur?

1.310.7 faferma eq
2. 315.7 fafega eq
3. 297 5 fafaga eq
4 3057 fafaga eq

Options :

878270206609. 1
878270206610. 2
878270206611. 3

878270206612. 4

Question Number : 19 Question Id : 87827052507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following conditions characterizes disguised unemployment?

1. When the marginal productivity of labour is greater than one.

2. When the marginal productivity of labour is zero.

3. When the marginal productivity of labour is greater than two.

4 When the marginal productivity of labour is greater than one and less than two.

Options :



878270206613. 1
878270206614. 2
878270206615. 3

878270206616. 4

Question Number : 19 Question Id : 87827052507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270206613. 1
878270206614. 2
878270206615. 3

878270206616. 4

Question Number : 20 Question Id : 87827052508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sequence the principal stages of biological nitrogen fixation in their correct order of occurence-
(A). Formation of infection thread

(B). Rhizobium multiply to colonise.

(C). Curling of root hair

(D). Differentiation of cortical cells into nitrogen fixing cells

Choose the correct answer from the options given below:

C), (A), (
), (C), (D

), (D)
), (D)

(D), (C
)

Options :

878270206617. 1
878270206618. 2
878270206619. 3
878270206620. 4

Question Number : 20 Question Id : 87827052508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sfad ISeloH TRIDHIH0 & WHE TR BT 3IHH I gfed 5 & el 5 | Siforu-

(A) GeHH01 A BT i

(B) DICIT R B B (60 TZollaqH B UM

(C) o T4l &1 o

(D) dedel (Dlicder) DIRIBIHT B AZcioH ARBIGR] DB § faue

1 feg e ool 9 9 W8t SR T

Options :

878270206617. 1
878270206618. 2
878270206619. 3

878270206620. 4

Question Number : 21 Question Id : 87827052509 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-I

(Millet)

(Botanical name)

(A). Barnyard millet|(l). Paspalum scrobiculatum

(B). Kodo millet

(I). Setana italica

(C). Foxtail millet

_ Echinochioa frumantacea

()

(D). Finger millet

eusine coracana

(IV). Ef

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (1), (C) - (I, (D) - (IV)

3. (A) - (1), (B) - (IN), (C) - (IV), (D) - {III]

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
Options :

878270206621. 1
878270206622. 2
878270206623. 3

878270206624. 4

Question Number : 21 Question Id : 87827052509 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 d G-Il S Al Sifer-

-l Tl
(fiie) (@Eafa® Am)
(A) FHTTS fidie (1) gredes ehifaagced
(B)BEIfice | f&GEfar sefoer
(C) Piaged fBeie (1) Tf=iaatar gaeraan
D) R fiRe |(v) TogfeT ERreET
- feu e famedl § 9§ 981 3ok I |

1.(A) - (1), (B) - (IN), (C) - (lin), (D) - (IV)
2. (A) - (), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (), (B) - (1), (C) - (IV), (D) - (11}
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options :

878270206621. 1
878270206622. 2
878270206623. 3

878270206624. 4

Question Number : 22 Question Id : 87827052510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is not true for NABARD?

1. NABARD provides loans to individuals.

2. NABARD encourages research work related to agriculture and rural development.

J. NABARD supervises Cooperative Banks and Regional Rural Banks.

4 The Cooperative Development Fund (CDF) was established by NABARD on February 2nd, 1993.

Options :

878270206625. 1
878270206626. 2
878270206627. 3



878270206628. 4

Question Number : 22 Question Id : 87827052510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad § § &9 91 $49 NABARD & 9T 9 781 22

1. NABARD T(dad! @I U UaH Hdl 8

2. NABARD Bt 3R Urivy fadre ¥ Hefiid o gy &l & Uidiiad didl ol

3 NABARD Ug®RI ddi 3R &g I §&f &1 FRrE el 8

4 eon faemg MY (TI2UE) B RIGET 2 Ba3T 1993 &I NABARD GRI &1 73 off|

Options :

878270206625. 1
878270206626. 2
878270206627. 3
878270206628. 4

Question Number : 23 Question Id : 87827052511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a promising chemical for flower induction in mango?

124D

2. Ethylene

3. Gibberellic acid
4 Paclobutrazol

Options :
878270206629. 1
878270206630. 2

878270206631. 3



878270206632. 4

Question Number : 23 Question Id : 87827052511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad & | 1 91 o H gsg IR0 & o Ush fasg-ta 3umH 82

12 4D
2. 3YISaA
3. ossifem o

Options :

878270206629. 1
878270206630. 2
878270206631. 3
878270206632. 4

Question Number : 24 Question Id : 87827052512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the name of the microbial spray, consisting of blend of seven fungi, developed by ICAR-IARI, New Delhi for the in-
situ accelerated degradation of paddy straw or paral?

1. Pusa Composter

2. Pusa Biogranule

3. Pusa Decomposer
4. Pusa Bio-Composter

Options :

878270206633. 1



878270206634. 2
878270206635. 3

878270206636. 4

Question Number : 24 Question Id : 87827052512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3. BT IR, T R S, T3 foeeh G 01T 71 TRIeh o W i3 &R0 & g oo 1 ! b ol
el 8 1A 7

1. [ R

2

s daiT
4 TH LB

Options:

878270206633. 1
878270206634. 2
878270206635. 3
878270206636. 4

Question Number : 25 Question Id : 87827052513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-l

(Classes of Seed) (Colour of Tag )
(A). Breeder Seed  |(1). Green Opal

(B). Foundation Seed|(ll). Azure Blue

(C). Certified Seed  |(IIl). White

(D). TL. Seed (IV). Golden yellow

Choose the correct answer from the options given below:

1. (A) - (11), (B) - (1), (C) - (Il1), (D) - (IV)

2. (A)-(IV), (B) - (1), (C) - (1), (D) - (1}

3. (A) - (1), (B) - (I}, (C) - (IV), (D) - (IIT)

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270206637. 1
878270206638. 2
878270206639. 3

878270206640. 4

Question Number : 25 Question Id : 87827052513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ol T Gl 3T gafd Sife-

it Lial
@s ot afv@mn| @ or )
(A) WoF® siol (1) 3fge 3H
(B) e &fla |(11) SMTEEM e 1
(C) WHITOT &1 |(111) §%g
(D)E T ((1v) gIew dien
T for T A 5 T 98 SR o

1. (A) - (IN), (B) - (1), (C) - (Il :| {D}-{I‘u’}
2 (A) - (IV), {EH-{III) (C) - (I1), (D) - (1)
3. (A) - (1), (B) - (II}), (C) - (IV ij‘J (Il1)
4 (A) - (ll), (B) - {w:u (C) - (1), (D) - (1)

Options:

878270206637. 1
878270206638. 2
878270206639. 3

878270206640. 4

Question Number : 26 Question Id : 87827052514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of replications are equal to number of treatments in the

1. Latin square design
2. RBD

3. CRBD

4 SPD

Options :

878270206641. 1
878270206642. 2
878270206643. 3



878270206644. 4

Question Number : 26 Question Id : 87827052514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& =T H 3Rl & 9% & Se Bial &

1. qlfe= o f5omgq
2 ARdls

3 Hisda!

4 THUIS]

Options :

878270206641. 1
878270206642. 2
878270206643. 3

878270206644. 4

Question Number : 27 Question Id : 87827052515 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-I

Disease

(Causal organism)

(A). Black rust

(). Puccinia recondita

(B). Yellow rust

(II). Cercospora arachidicola

(C). Brown rust

(IlN). Puccinia graminis

(D). Tikka disease of groundnut

(V). Puccinia striformis

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV})

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
Options :

878270206645. 1
878270206646. 2
878270206647. 3
878270206648. 4

Question Number : 27 Question Id : 87827052515 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) BTN fbg (Xgam  |(1) gaHiar Reiiaer
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(D) TR T feamT T|(1V) Taar fewie
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1..(A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (IlT), (C) - (1), (D) - (IV)
3. (A) - (), (B) - (1), (C) - (IV), (D) - (11}

4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options :

878270206645. 1
878270206646. 2
878270206647. 3

878270206648. 4

Question Number : 28 Question Id : 87827052516 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bactenal cells are more resistant to osmotic shock than eukaryotic cells due to the-

1. cell wall composed of cellulose.

2. presence of osmoregulatory porins.
3. cell wall shows selective permeability.
4 cell wall composed of peptidoglycan

Options :

878270206649. 1
878270206650. 2
878270206651. 3



878270206652. 4

Question Number : 28 Question Id : 87827052516 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SN DIRIIY WRIGRY HHId o (o1t G¥iHbso! (GdRalicd) DI o e e R gid § i -
1. DifRr! i S § o gl g

2. TRIERUGH U 31 3 31el &

3 BIE i TS TR G gl

4 BIe il UpSias e @ & ekl ol

Options :

878270206649. 1
878270206650. 2
878270206651. 3

878270206652. 4

Question Number : 29 Question Id : 87827052517 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is the correct sequence of reagents given below used in the Gram staining process?
(A). lodine

(B). Crystal violet

(C). Safranin

(D). Alcohol

Choose the correct answer from the options given below:

Options :

878270206653. 1
878270206654. 2
878270206655. 3

878270206656. 4

Question Number : 29 Question Id : 87827052517 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o

TR W Uihar 5 U fht oH arel FHafaiad sfidHe! & S 9 9l 354 67
(A) SHTATSH

(B) fspeed algeie

(C) 3T
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2.(A), (C), (B
3. (B), (A), (D
4 (C), (B), (D

Options :

878270206653. 1
878270206654. 2
878270206655. 3

878270206656. 4

Question Number : 30 Question Id : 87827052518 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the follwing terms specifically refers to the practice of rearing stingless bees?

1. Nesting

2. Apiculture

3. Meliponiculture
4_|ridiculture

Options:

878270206657. 1
878270206658. 2
878270206659. 3



878270206660. 4

Question Number : 30 Question Id : 87827052518 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafcied H 8 31 1 U 399 &0 4 31 S arell Aaiagdl & U of w1 &1 Hafa ov 87

1 AfET
2. TildedR
4. INEDR

Options :

878270206657. 1
878270206658. 2
878270206659. 3
878270206660. 4

Question Number : 31 Question Id : 87827052519 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statements regarding economic importance of fungi and choose the correct statements-
(A). Extract of the sclerotia of Claviceps purpurea is used to produce ergot drug.

(B). Agaricus campestris is a fungus which is edible.

(C). Aflatoxin, a powerful toxin is produced by the Aspergillus.

(D). Saccharomyces cerevisiae is the source of enzyme invertase.

Choose the correct answer from the options given below:

1.(A), (B and (D) only.
2.(A), (B) and (C) only.
3.(A), (B), (C)and (D).

4.(B), (C)and (D) only

(
(
(
(
Options :

878270206661. 1
878270206662. 2
878270206663. 3

878270206664. 4

Question Number : 31 Question Id : 87827052519 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. ®ad (A), (B) 3R (D)
2aﬁa{A}{Ba?r{ C)

3. (A), (B), (C) 3R (D)
4 $ad (B) (C) 3R (D)

Options :

878270206661. 1
878270206662. 2
878270206663. 3
878270206664. 4

Question Number : 32 Question Id : 87827052520 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

Micro erganism Disease
(A). Colletotrichum falcatum |(1). Late blight of potato

(B). Phytophthora infestans |(I1). Green ear of bajra

(C). Sclerospora graminicola|(lll). Red rot of sugarcane

(D). Ustifago nuda var. tritict |(IV). Loose smut of wheat

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (I, (B) - (1), (C) - (Im), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}
4. (A) - (1), (B) - (1), (C} - (1), (D) - (IV)

Options :

878270206665. 1
878270206666. 2
878270206667. 3

878270206668. 4

Question Number : 32 Question Id : 87827052520 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) Blciclicad Blcbed  |(1) 3T &1 T =ilee
(B) FIFEIRNT 3y (1) TR &1 U 33
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1. (A) - (), (B) - (I, (C) - (1), (D} - (IV)
2. (A) - (I}, (B) - (1), (C) - (1), (D} - (IV)
(
(

3. (A) - (1), (B) - (II), (C) - (IV), (D) - (Il1)
4 (A) - (lll), (B) - (1), (C) - (1), (D) - (V)

Options:

878270206665. 1
878270206666. 2
878270206667. 3
878270206668. 4

Question Number : 33 Question Id : 87827052521 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who did work on the recurrence of wheat rusts in India?

1. T. Sadasivan
2. K.C.Mehta
3. Y.L Nene

4 R.N. Singh

Options :
878270206669. 1
878270206670. 2

878270206671. 3



878270206672. 4

Question Number : 33 Question Id : 87827052521 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g

YR | 7E & fove @ TR W - o faar ur?

s

U

1. <1, geriRiaA
2 @ df Hegdl
3. @5 Td A4

Options :

878270206669. 1
878270206670. 2
878270206671. 3

878270206672. 4

Question Number : 34 Question Id : 87827052522 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll

(Disease) (Symptom)

(A). Downy mildew|(l). Dead areas on the stem bark of woody frees.

(B). Blight (I1). Angular and elongated spots appearing on the veins on the lower surface of the leaf.

(C). Canker (I11). Cottony growth on the host surface.

(D). Anthracnose |(IV). Burnt appearance

Choose the correct answer from the options given below:

Options :

878270206673. 1
878270206674. 2
878270206675. 3

878270206676. 4

Question Number : 34 Question Id : 87827052522 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I Tl
() (@&
(A) g THT SR (1) T Gail & o+ S B0 W 7 & |
(B) 5T (I1) STl Bt Frec Gas @1 RRre W Sy SR o e fGams 2 2
(C) BT (1) TRt g IR 9g3H gt |
(D) Wi (IV) ST 3T |1 el g
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1. (A)- (1), (B) - (), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (1D, (D} - (IV)
3. (A)- (), (B) - (I1), (C) - (IV), (D) - (111}
4. (A) - (ln), (B) - (IV), (C) - (1), (D) - (I1)
Options:

878270206673. 1
878270206674. 2
878270206675. 3

878270206676. 4

Question Number : 35 Question Id : 87827052523 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements about extent of infection and perpetuation of pathogen are correct?
(A). Disease which is confined to a particular part or organ is known as systemic disease.

(B). Arhar wilt is a soil-borne disease.

(C). Smut disease of cereals are seed-bome.

(D). Mildew and rusts are air-borne.

Choose the correct answer from the options given below:

1.(A
2.(B)
3. (A
4 (B

C)and (D) only

), (

)and (D) only.

), (B) and (D) only.
), (C)and (D) only

Options :

878270206677. 1
878270206678. 2
878270206679. 3

878270206680. 4

Question Number : 35 Question Id : 87827052523 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270206677. 1
878270206678. 2
878270206679. 3
878270206680. 4

Question Number : 36 Question Id : 87827052524 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements related to disease management is/are correct

(A). Biological management of disease make use of, hyperparasitism.

(B). Thiram is a contact fungicide.

(C). Bordeaux mixture consists of copper sulphate, ammonium carbonate and water.
(D). Crop rotation is a prophylactic measure of disease management.

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.

2. (A), (B)and (C) only.

3. (A), (B), (C) and (D).

4. (B), (C)and (D) only
Options :

878270206681. 1
878270206682. 2
878270206683. 3

878270206684. 4

Question Number : 36 Question Id : 87827052524 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270206681. 1
878270206682. 2
878270206683. 3
878270206684. 4

Question Number : 37 Question Id : 87827052525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(Hormone) (Physiological effect)

(A). Cytokinin (). Increase stem length

(B). Auxin (I1). Prevent leaf and fruit drop at early stage

(C). Gibberellin |(llI). Promotes lateral shoot growth

(D). Abscisic acid|(1V). Stimulates stomata closing

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV})

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
Options :

878270206685. 1
878270206686. 2
878270206687. 3
878270206688. 4

Question Number : 37 Question Id : 87827052525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 d G-Il S Al Sifer-

Tl -l

(GTHI) ([@IdSTT yHmE)

(A) FECBIEEA (1) T B 9T% | gia e

(B) e (1) AR a= 5 giugl 9 Bl & 9o @ 1
(c) fomferm () 91 wRiE 9fE Fi vinfed s

(D) UehR® Ts|(1v) <ol & 58 B & [hal & Jeiidd Sl

- f&u 7t faseyl & 9 96l IR 94|

1..(A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (IlT), (C) - (1), (D) - (IV)
3. (A) - (), (B) - (1), (C) - (IV), (D) - (11}
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

),
),

Options :

878270206685. 1
878270206686. 2
878270206687. 3

878270206688. 4

Question Number : 38 Question Id : 87827052526 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Normal seedlings upon putting in dark, for few days, get converted into white like albinos. Which of the following terms will
you use 1o describe them?

1. Mutated
2. Embolised
3. Etiolated
4 Bolted

Options :
878270206689. 1

878270206690. 2



878270206691. 3
878270206692. 4

Question Number : 38 Question Id : 87827052526 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 018 5 T & Tt TORIEH ®H TR H § Uedl &1 g TG 31 o ¢ 470 3701 90 B3 a ford e o
3 1650 91, T T 4T

1. JARa
2 SN
4 JFgfeal

Options:

878270206689. 1
878270206690. 2
878270206691. 3

878270206692. 4

Question Number : 39 Question Id : 87827052527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Horizontal growth of seedling, swelling of axis and apical hook formation of dicot seedlings are associated with-

1. Photoperiodism
2. Vemnalisation

3 Ethylene

4 Cytokinin

Options :



878270206693. 1
878270206694. 2
878270206695. 3

878270206696. 4

Question Number : 39 Question Id : 87827052527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST el & alg g @ Afad i, 318 &1 B 3R ITw g6 @1 (a7, T=id 6 -

1. UG - PIfeTa
2. IR
3 2UREEH

Options :

878270206693. 1
878270206694. 2
878270206695. 3

878270206696. 4

Question Number : 40 Question Id : 87827052528 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements is/are correct about photosynthesis ?

(A). Liberation of oxygen when green cells are exposed to sun light in presence of suitable acceptor is known as emerson
effect

(B). Green light is not effective for photosynthesis.
(C). When CO; s added to PEP. the first stable product is oxaloacetate.
(D). PEP is the primary CO, acceptor in C4 plants.

Choose the correct answer from the options given below:

Options :

878270206697. 1
878270206698. 2
878270206699. 3

878270206700. 4

Question Number : 40 Question Id : 87827052528 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



] U & Hay H Fioiad H 8 o 9 0 W /e

() 79 B0 iAot Suge e ot U o S o rnren o T & iRl o Fep @) o a1 3
TG ] 91l 5|

(B) TR URETUUI R &1 TS T T

(C) T U3 U T e STSaigs Wi gl 3, o A R 9T laiciugiee giel o)
(D) G, TAA AT Srofies T S ads 7 21l ol

fid R el 7 8w om gt

1. (A), (B) 4R (0)

2 544 (A), (B) 3R (C)
3.(A),(B), (C) ¥R D)

4 91 (8), (C) IR (D)

Options :

878270206697. 1
878270206698. 2
878270206699. 3

878270206700. 4

Question Number : 41 Question Id : 87827052529 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Indian farming’ magazine is a publication of-

1. IARI, New Delhi
2. WRI, |zatnagar
3. CRRI, Cuttak

4 ICAR, New Delhi

Options:
878270206701. 1

878270206702. 2



878270206703. 3

878270206704. 4

Question Number : 41 Question Id : 87827052529 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. 318 U3 A2, T3 facel
2 33 dl 3R S, ToldTR
3. 91 3R 3R A5, b
4 1S G U IR, 713 faewil

Options:

878270206701. 1
878270206702. 2
878270206703. 3

878270206704. 4

Question Number : 42 Question Id : 87827052530 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which crop and year was the first All India Co-ordinated Research Project set up in India with the assistance of
Rockefeller Foundation of the USA?

1. Bajra, 1927

2 Wheat 1957
3. Maize, 1957
4 Maize, 1967

Options :



878270206705. 1
878270206706. 2
878270206707. 3

878270206708. 4

Question Number : 42 Question Id : 87827052530 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U T8 SR o AFHR BIISTH BI Ferdal § HRT 5 Ugel g HRATg Taiad g Taior g B 3R
v o eyl &t 1 o

1. 991, 1927
2.1 1957

3. T, 1957
4. T, 1967

Options :

878270206705. 1
878270206706. 2
878270206707. 3

878270206708. 4

Question Number : 43 Question Id : 87827052531 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-I List-ll
(Institute) (Year of establishment)
(A). Institute for Rural Management (1. 1979

(B). National Academy for Agricultural Research Management |(I1). 1957

(C). National Institute of Agricultural Extension Management |(Ill). 1976

(D). National Institute of Agricultural Marketing (IV). 1988

Choose the correct answer from the options given below:

1.(A)-(1), (B) - (), (C) - (1N, (D) - (IV)

2. (A)- (), (B) - (111), (C) - (I1), (D) - (IV}

3. (A)- (1), (B) - (IN), (C) - (IV), (D) - (1}

4.(A)- (I, (B) - (Iv), (C) - (1), (D) - (1}
Options :

878270206709. 1
878270206710. 2
878270206711. 3
878270206712. 4

Question Number : 43 Question Id : 87827052531 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ol T Gl 3T gafd Sife-

- -
(TeYH) (F4TY-T 31 T4)
(A) TTHIT HEeE S=IH (1) 1979

(B) TP FHY T WU fHTeH (1) 1987
(C) TP B UER yeyE dwE (1) 1976

(D) T Sy oo g=m (V) 1988

-d fu TTe fadedl § © 98! 3R |

1. (A) - (1), (B) - (I, (C) - {IIIj (D) - (IV)

2 (A)-(I), (B) - III} (C)- (1D, (D) - (IV)

3. (A)- (1), (B) - (), (C) - {I"u’j (D) - (111}

4 (A)-(lln), (B) - {WH ) - (1), (D) - (I1)
Options:

8782702067009. 1
878270206710. 2
878270206711. 3
878270206712. 4

Question Number : 44 Question Id : 87827052532 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a measure of dispersion?

1. Range

2. Mean deviation

3. Standard deviation
4 Mode

Options :
878270206713. 1
878270206714. 2

878270206715. 3



878270206716. 4

Question Number : 44 Question Id : 87827052532 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafEa 5 © o991 U tiH ®1 3911 981 £72

1. U3
2 A [9gd-
3. {E® [ddaq

4 GE'C’C?J

Options :

878270206713. 1
878270206714. 2
878270206715. 3
878270206716. 4

Question Number : 45 Question Id : 87827052533 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a normally distributed population, number of observation falling within the range Mean + S.D. is
approximately %

1.16
2.32
3.68
4.95

Options :

878270206717. 1



878270206718. 2
878270206719. 3

878270206720. 4

Question Number : 45 Question Id : 87827052533 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR &0 ¥ foaid T H A1 + 770 o S & SFX o A VAT I S (%)
gl g

1.16
2.32
3.68
4.95

Options:

878270206717. 1
878270206718. 2
878270206719. 3
878270206720. 4

Question Number : 46 Question Id : 87827052534 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

While conducting a chi-square test to examine the independence of attributes in anm x n contingency table, what formula
determines the degree of freedom?

1. m(n-1

3]
2 n(m)

= -



Options :

878270206721. 1
878270206722. 2
878270206723. 3

878270206724. 4

Question Number : 46 Question Id : 87827052534 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T@ m xn B SR dlfcid] H AT B Waad @1 aid O o oL, Dle-a7 GG Bl 99 @ 91 T I
Ife I FHeia BT 37

1.m(n-1)
2.n(m-1)

3. (n1)

4. (m1) (n-1)

Options :

878270206721. 1
878270206722. 2
878270206723. 3
878270206724. 4

Question Number : 47 Question Id : 87827052535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps in the correct sequence for implementing an agricultural extension programme
(A). Developing extension materials

(B). Implementing the programme

(C). Evaluating the programme

(D). Conducting needs assessment

Choose the correct answer from the options given below:

Options :

878270206725. 1
878270206726. 2
878270206727.3
878270206728. 4

Question Number : 47 Question Id : 87827052535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P TR BIAsHH B dF] B3 & U FEfeRad @Rl ®f 81 0 H oaiydd Sifol-

(A) ToR gl fas g &3

(B) BIsHH B! TR B

(C) BTaHH BT Telid H]

(D) HaGdH AT BT Yelih Bl
= feu e faded § © |E S T

1. (A), (B), (C), (D)
2. (A) (C), (D), (B)
3. (B), (A), (D), (C)
4. (D), (A), (B), (C)

Options :

878270206725. 1
878270206726. 2
878270206727.3
878270206728. 4

Question Number : 48 Question Id : 87827052536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Diffusion of an innovation occurs through step process. Arrange the following stages in the adoption process in sequential

order.

(A). Decision

(B). Implementation and Confirmation
(C). Persuasion

(D). Knowledge

Choose the correct answer from the options given below:

Options :

878270206729. 1
878270206730. 2
878270206731. 3

878270206732. 4

Question Number : 48 Question Id

: 87827052536 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TN 35 IR RS W] o Fe 4 21 1 siviapa el 1 3 0 it vl o1 e 0 H ey
ot

Options :

878270206729. 1
878270206730. 2
878270206731. 3

878270206732. 4

Question Number : 49 Question Id : 87827052537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following marketing concepts involves dividing a market into distinct groups of buyers based on their needs,
characteristics, or behaviour, who may require different products or marketing mixes?

1. Product differentiation
2. Market segmentation
3. Market targeting

4 Market positioning

Options:

878270206733. 1



878270206734. 2
878270206735. 3

878270206736. 4

Question Number : 49 Question Id : 87827052537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e € {678 UM SfaeR & SR @) 370! Sa%amas, sl 71 TR & 3M1UR R WIGR| & -3
o1 FaITore et SIefert &, foeg - ofciT S 1 fauur ol ol aawen &1 Gl 62

1, JTG g
2. SR fqHToH

3 IR dedia

4. TR 1 R (Uifor)

Options:

878270206733. 1
878270206734. 2
878270206735. 3

878270206736. 4

Question Number : 50 Question Id : 87827052538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-lI

(Scientist) (Discovery)
(A). Hans Krebs |(l). Citric acid cycle

(B). P. Mitchell (II). Chemiosmotic hypothesis

(C). W. M. Stanley|(lll). C5cycle

(D). M. Calvin (IV). Crystalization of Tobacco Mosaic Virus

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (1), (C} - (1), (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}
(1),

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)

Options :

878270206737. 1
878270206738. 2
878270206739. 3
878270206740. 4

Question Number : 50 Question Id : 87827052538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tdi-1 9 G-Il DI AT DIfee-

- -
(@) (=)
(A) B9 el (1) S=R® o 9%

(B) 1. FErEie (11). THE TR0 O @l

(C) S&4, TH. =AWI|(I1l) C; T

(D) TH. Hica (IV) S Hivid araey @l e i
TR e T A 5 3 98 SR

1.(A) - (), (B) - (), (C) - (li), (D) - (IV)
2. (A) - (), (B) - (IlN), (C) - (I, (D} - (IV)
3. (A) - (D), (B) - (1), (C) - (IV), (D) - (1lT)
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270206737. 1
878270206738. 2
878270206739. 3
878270206740. 4

Question Number : 51 Question Id : 87827052539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following are the steps of chemiosmotic ATP synthesis in the light reaction. Arrange them in correct order of their
occurence-

(A). H" diffuse through ATP synthetase and it makes ATP.

(B). Electrons from PS-Il pass along electron fransport chain.
(C). H" concentration gradient generates across the membrane.
(D). Light excites electrons in PS-I.

Choose the correct answer from the options given below:

(A), (B

. D)
D),

).
)
A)

(
[
|

[

), (C
)

=
=

(
(B)
(C), (B), (

(]

A) I

=

I e

—

Options :

878270206741. 1
878270206742. 2
878270206743. 3
878270206744. 4

Question Number : 51 Question Id : 87827052539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RIS TR T T R U 2 o e & e T 21 3% 39 Ui o W FH W oaid & -
(&) H* ATP fites & mem @ fomfa 39 & AR ATP ST 81
(B) U UGt 4 ¥ gl U O ¥ 3 ToRal ¢

(C) H* T aura el & UR S 81 ol

(D) Wb PS-I # el 1 Saford el 3

SEIE T R R ]

Options :

878270206741. 1
878270206742. 2
878270206743. 3

878270206744. 4

Question Number : 52 Question Id : 87827052540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statements and choose the correct statements:

(A). Sugarcane has kranz anatomy in their leaves

(B). Maize is a C4plant.

(C). Photolysis of water in photosynthesis require Mg™ ions.

(D). C4 path way of photosynthetic CO5 fixation was discovered by Hatch and Slack.
Choose the correct answer from the options given below:

1. (A
2 (A
3. (A
4 (B

B) and (D) only.
B) and (C) only.
B), (C)and (D).
C) and (D) only

). (
). (
). (
). (
Options :

878270206745. 1
878270206746. 2
878270206747. 3

878270206748. 4

Question Number : 52 Question Id : 87827052540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafaRad HyEf IR foaR &% 3R 981 &Y & 901 &%
(A) T @I ufdl § Hiv IR T Bl 6

(B) Ha®1 TP C, U

(C) UHT YWl H UM & USHIISUEe & (08 Mg*™* 3T &1 SMaadhdl gldl o
(D) WIS U=09® CO, TIRTHIHI0 & C, TY B @i 54 3R W gRI & T3 4|

1. ®ad (A), (B) 3R (D)
2 %ad (A). (B) AR (C)
3. (A), (B), (C) ¥R (D)

4 %4d (B), (C) 3R (D)

Options :

878270206745. 1
878270206746. 2
878270206747.3

878270206748. 4

Question Number : 53 Question Id : 87827052541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-lI

(Element) (Role / Function)

(A). Iron {I). Pollen germination
(B). Zinc (I1). Photolysis of water

(C). Boron (IIl). Required in cholorophyll biosynthesis

(D). Manganese|(IV). |AA biosynthesis

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
Options :

878270206749. 1
878270206750. 2
878270206751. 3

878270206752. 4

Question Number : 53 Question Id : 87827052541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tdi-1 § G-Il BT AT BIfeg

a4 [

(@@  |pfEered)

(A) SATERA |(I) TIFTRTT B0

) f&w | gt &1 usEia sgged
(C)TRIA |(I) FIRIFT Saa<eu § Sawdd
(D) FHH (1V) 3T € € OiF Heerm
-4 feu T fogedt & © 981 SR 41|

1. (A) - (1), (B) - (IN), (C) - {|||:| (D) - (IV)
2 (A) - (1), (B) - |||} (C)- (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (V). (D) - (Ill)
4. (A) - (1), (B) - {WH ) - (1}, (D) - (1)

Options:

878270206749. 1
878270206750. 2
878270206751. 3

878270206752. 4

Question Number : 54 Question Id : 87827052542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The technique of growing plants in nutrient solution, in complete absence of soil , can be employed for:
(A). Identification of essentiality of mineral elements.

(B). Commercial production of vegetables.

(C). Studying the deficiency symptoms of a particular element.

(D). Conservation of germplasm.

Choose the correct answer from the options given below:

1. (A
2. (A)
3. (A)
4 (B)

B) and (D) only.
B) and (C) only.
B), (C)and (D).
C)and (D) only

).
).
).
)
Options :

878270206753. 1
878270206754. 2
878270206755. 3

878270206756. 4

Question Number : 54 Question Id : 87827052542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e &1 [0 Ui 3 O9a 7wl & 9 H O &1 3T @) qo-1d &1 SUa 9 o fo oo o 9o &
(A) T Tl @1 A &1 TgaH & fo

(B) Hieord! & SHGHI® Sagd o g

C) febi fa=1Y i 1 ¥l o LT 2T WG R o foiL
D) THWIeH o TREU & e

i fT T fomed A 8 96 SR T

1. Bad (A), (B) R (D)
2au—cm(m (8) IR (C)

3 (A), (B), (C) R (D)
4 $ad (B) (C) IR (D)

Options :

878270206753. 1
878270206754. 2
878270206755. 3
878270206756. 4

Question Number : 55 Question Id : 87827052543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Certain bacteria living in the soil converts nitrates into nifrites and then to free nitrogen. Such bacteria are termed as:

1. nitrogen fixing bactena
2. denitrifying bacteria

3. nifrifying bacteria

4 ammonifying bacteria

Options:

878270206757. 1
878270206758. 2
878270206759. 3



878270206760. 4

Question Number : 55 Question Id : 87827052543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 H ¥ Tl 9 W1y TI5ec &l TRcre H iR b Ageier 19 # uRafid &ed §1 3 TE & SaIy] &l gl ol &

1, RIS D BRE Say

Options :

878270206757. 1
878270206758. 2
878270206759. 3
878270206760. 4

Question Number : 56 Question Id : 87827052544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During seed germination its stored food I1s mobilised by

1. auxin

2. ethylene
3. gibberellin
4 ABA

Options :
878270206761. 1
878270206762. 2

878270206763. 3



878270206764. 4

Question Number : 56 Question Id : 87827052544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oS SHI01 b R 3HH GUfed HioH Bl VMR 3l &:

1 ifga
2. 3YISaA
4. T4T

Options :

878270206761. 1
878270206762. 2
878270206763. 3

878270206764. 4

Question Number : 57 Question Id : 87827052545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-l

(Fertilizer) |(Type /made oficontains)
(A). Urea ((I). Sulphur

(B). CAN |(II). KCI

(C). SSP |(lI1). Organic chemical fertilizer

(D). MoP |(IV}). Neutral fertilizer

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (1), (C} - (1), (D) - (IV)

3. (A) - (D), . (D) - (llTy
(Il

(B) - (I1), (C) - (IV)
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)

Options :

878270206765. 1
878270206766. 2
878270206767. 3

878270206768. 4

Question Number : 57 Question Id : 87827052545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tdi-1 § G-Il BT AT BIfeg

- Tt
FdR®) | (verEamaEe)
(A)Tfar (1) e

(B) T T T [(I) KCI
(C) THTFUT|(1Il) FEHE TOAHE SaiE
(D)MoP  |(IV)3STHiH 343

- feu e fawedl § 9§ 981 o) I |

1.(A)- (1), (B) - (IN), (C) - {|||:| (D) - (IV)
2. (A) - (1), (B) - |||} (C)- ), {D} (V)
3.(A)- (1), (B) - (II), (C) - (IV), (D) - (Ill)
4 (A)- (1D, (B) - {IV) (C)- (D), D}-(II}

Options:

878270206765. 1
878270206766. 2
878270206767. 3

878270206768. 4

Question Number : 58 Question Id : 87827052546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-lI

(Disease /| Symptoms)

(Caused by the deficiency of)

(A). Black heart of Potato

(1). Calcium

(B). Interveinal chlorosis of younger leaves

(11). Boron

(C). Whip-tail in Cauliflower

(111}. lron

(D). Die-back of terminal buds

(IV). Molybdenum

Choose the correct answer from the options given below:

1. (A)-(
2. (A)-(
3. (A)-(
4.(A)-(

). (
1), (B) - (1), (C) - (IV), (D) -
), (B) - (1), (C) - (IV), ( ){l
I}, (B) - (IV), (C) - (1), (D) -

Options :

878270206769. 1
878270206770. 2
878270206771.3
878270206772. 4

Question Number : 58 Question Id : 87827052546 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B) - (ll), (C) - (I, (D) - (IV)




Tdi-1 9 G-Il DI AT DIfee-

- L Sia]

(A) S 1 5 T () e

(B) T Uil B SRR &1 FARITEE| (1) SR

(C) e & f@gnea (1) SR

(D) T H el & SS9 (V) FiftresH

=i f&U 7T fgdedl H 9 95t 3R I |

1. (A) - (1), (B) - (IN), (C) - {Illj (D) - (IV)

2. (A)- (I, {E!I‘-fIII} (C) - (IV), (D) - (1)

3. (A)-(), (B) - (1), (C) - { V), (D) - (ll)

4 (A)- (), (B) - {I"-.a’j (C) - (1}, (D) - (I1)
Options:

878270206769. 1
878270206770. 2
878270206771. 3

878270206772. 4

Question Number : 59 Question Id : 87827052547 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The formula of gypsum is:

1. CaCO3

2. CaS04.2H50
3. Ca(OH)

4 Ca0

Options :
878270206773. 1
878270206774. 2

878270206775. 3



878270206776. 4

Question Number : 59 Question Id : 87827052547 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[+ 1 99 &:

1. CaCOs

2. CaS04.2H50
3. Ca(OH)»

4 CaO

Options :

878270206773. 1
878270206774. 2
878270206775. 3
878270206776. 4

Question Number : 60 Question Id : 87827052548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What was the name of "the Commission for Agricultural Costs and Prices (CACP)" prior to 19607

1. Agricultural Prices Commission

2. Commission for Farming Prices and Costs
3. Farming Costs and Prices Commission

4. Support Price Commission

Options :
878270206777. 1
878270206778. 2

878270206779. 3



878270206780. 4

Question Number : 60 Question Id : 87827052548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1980 ¥ Ugdl "HIY AR HIR Hed AR (Sedidh” &1 98 &1 417

1. qrai Held &;LH

2. Wl 4 3R ARTd AN
3. Wl ANTd 3R g0 SR
4 THYF HeT AR

Options :

878270206777. 1
878270206778. 2
878270206779. 3

878270206780. 4

Question Number : 61 Question Id : 87827052549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements about correlation coefficient and regression coefficients are correct?
(A). The correlation coefficient is unaffected by change of origin and scale.

(B). Regression coefficients are independent of change of origin but not of scale.

(C). Correlation coefficient is the geometric mean of two regression coefficients.

(D). If one regression coefficient is greater than 1, the other must also be greater than 1.

Choose the correct answer from the options given below:

1.(A
2. (A
3. (A
4 (B

B) and (D) only.
B) and (C) only.
B), (C)and (D).
C)and (D) only

) (
) (
) (
) (
Options :

878270206781. 1
878270206782. 2
878270206783. 3

878270206784. 4

Question Number : 61 Question Id : 87827052549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Teday ulid 3R Wi TuTie & aR § ¥ gfaiad T &F 9 oud 981 82
(A) Tgda Turies e 3R T & giad ¥ Smyifad I8dr o

=ty =1 i

(B) WicTHA T[urie Hel ufacd ¥ Wad 8id & dicd 40 9 a1

(C) GegaY TUTids &l WiTTH- Ul ol STy [red g
(D) B¢ U UfavH- Uik 1 § 38D B, a1 gOx1 i 1 ¥ g1 anfgu|
I feu U fasedf § € 8 TR I

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270206781. 1
878270206782. 2
878270206783. 3

878270206784. 4

Question Number : 62 Question Id : 87827052550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following exchangeable sodium percentage is characteristic of alkaline soils?

1.219%
2.10-15%
3. <0%

4. 5-10%

Options:
878270206785. 1

878270206786. 2



878270206787. 3

878270206788. 4

Question Number : 62 Question Id : 87827052550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeRad & 9 &1 a1 faFreiia 9ifsas o &g garsi o fagvd g2
<

1.>15 %
2. 10-12%
3 <0%
4 5-10%

Options:

878270206785. 1
878270206786. 2
878270206787. 3

878270206788. 4

Question Number : 63 Question Id : 87827052551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statements regarding chrysanthemum-

(A). Corms are used for propagation

(B). Y2K is a variety of chrysanthemum

(C). De-suckering is the removal of new shoots that develop from the base of the plant.
(D). Chrysanthemum is a short-day plant for flowers bud initiation.

Choose the correct answer from the options given below:

1. (A
2.(A
3. (A
4 (B

B) and (D) only.

B) and (C) only.

B), (C)and (D).
3

), (
), (
), (
), (C)and (D) only
Options :
878270206789. 1
878270206790. 2

878270206791. 3

878270206792. 4

Question Number : 63 Question Id : 87827052551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIsuYad & ga¢ § Fgfoiad oyl ) fdar & -

(A) BIF BT ITTF TIR & o fmar srar 21

(B) Y2K SISHYHH B TP b T |

(C) Uidl & MR ¥ fapTid 81 I8 -T¢ i3l Dl g fa-3a: o ¢ |
(D) HTSHUFH U8 & Hpd HRHA & (oL T SAeq-Ueitidbiicia g4l 5|
e feg e fawedl 5 © @elSm T

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270206789. 1
878270206790. 2
878270206791. 3
878270206792. 4

Question Number : 64 Question Id : 87827052552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The colour of beetroot i1s attributed to which of the following compound?

1. B-Cyanins and p-Xanthins

2. B-Carotene and xanthophylls
3. Anthocyanin

4 B-Cyanins and B-Carotene

Options:
878270206793. 1

878270206794. 2



878270206795. 3
878270206796. 4

Question Number : 64 Question Id : 87827052552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy I W HgiaRad ¥ ¥ &9 diffle 3 JeiEd 82

1. B-TrEEA 3R A
2. BRI 3R HYifthe
3.1:_:.{“ Ao b |

4. B-UEFA 3R B-IRICH

Options:

878270206793. 1
878270206794. 2
878270206795. 3

878270206796. 4

Question Number : 65 Question Id : 87827052553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Place the following jelly making steps in the correct order-
{A). Add sugar, boil and remove any scum.

(B). Boiling with water and add citric acid.

(C). Cut the fruits into thin slices.

(D.). Strain the fruit mixture and test for pectin

1. (A), (C)

. (B), (D)
2. (A), (B), (C), (D)
D),

3. (B), (A), (D), (C)
4. (C), (B), (D), (A).

Options :

878270206797. 1
878270206798. 2
878270206799. 3

878270206800. 4

Question Number : 65 Question Id : 87827052553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafafRad Sielt 9911 & 90T @f 9ol 9 H 3 -
(A) =T BTC, I9c 3R 8d &I geT ¢

[y o

(B) UF! & T1Y IaTd 3R WEfed ufue Srd

(C) Wl @1 Uda-Uddl <ol H§ dIe d

(D) Bl & 0 B T o 1R Ufde & g uliem &

=td fau e fadedl & ¥ 981 SR 4|

1. (A), (C), (B)

(D)
2. (A), (B), (C), (D)
3. (B), (A), (D), (C)
4.(C), (B), (D), (A)

Options :

878270206797. 1
878270206798. 2
878270206799. 3
878270206800. 4

Question Number : 66 Question Id : 87827052554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-l|

List-I List-ll

{Name of Cross pollinated crop)|(Associated mechanism)

(A). Carrot (). Sporophytic self-incompatibility
(B). Radish (IIN.Heteromorphic flower

(C). Brinjal (lif). Protoandry

(D). Papaya (V). Dioecy

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (1), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}

(1l 11)

Options :

878270206801. 1
878270206802. 2
878270206803. 3
878270206804. 4

Question Number : 66 Question Id : 87827052554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tdi-1 9 G-Il DI AT DIfee-

T Ti-ll

(RO B &1 =) | (i et

(A) TR (1) SaTUafas -3Y=aa
(B) TEit (1) fawr=dl gm

(C) ¥ (1) g

(D) TdiaT (IV) TS eims

-d feu 7Te [9@vedt § 9 981 SR 9 |

1..(A) - (), (B) - (I, (C) - (11}, (D} - (IV)
2. (A) - (), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (D), (B) - (1), (C) - (IV), (D) - (1lT)
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270206801. 1
878270206802. 2
878270206803. 3

878270206804. 4

Question Number : 67 Question Id : 87827052555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amrapali Is a cross of-

1. Dashehari X Neelum
2. Neelum X Kesar

3. Neelum X Alphonso

4 Dashehari X Alphonso

Options :
878270206805. 1
878270206806. 2

878270206807. 3



878270206808. 4

Question Number : 67 Question Id : 87827052555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HreEure fhg BT HE & -

1. GRIB X HicH
2. g X Y

3. Hia| X Sapigl
4. RG] Xehi]

Options :

878270206805. 1
878270206806. 2
878270206807. 3
878270206808. 4

Question Number : 68 Question Id : 87827052556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Thermal efficiency of diesel engine is-

- 32-38%
- 95-60%
- 42-48%
- 45-22%

T o

Options :
878270206809. 1
878270206810. 2

878270206811. 3



878270206812. 4

Question Number : 68 Question Id : 87827052556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SioTd S ®f dIUg T&dT & -

1. 32-368%
2. 55-60%
3. 42-46%
- 45-52%

o

Options :

878270206809. 1
878270206810. 2
878270206811. 3

878270206812. 4

Question Number : 69 Question Id : 87827052557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements about tillage are correct?

(A). Tillage operation in which nearly 30% crop residues are left on the soil surface is called conventional tillage.
(B). An open trench left in between two adjacent strips of land after finishing ploughing is called dead furrow.
(C). Jethro Tull was known as father of tillage

(D). Conservation tillage has mitigation effect on climate change

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3.(A), (B), (C) and (D).
4.(B), (C) and (D) only

Options :

878270206813. 1
878270206814. 2
878270206815. 3

878270206816. 4

Question Number : 69 Question Id : 87827052557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R ® AR A T A § B S 87

(A) TS Sshat Fore T 30 Tl B ey g o g IR X8 W1 &, UNURa [T el g

(B) R, FI &% o a1 4 5 & e Ufedl o o B1S1 7 U el S a4 (83 ) T oI
(C) oIl T 1 S[TS b S b T H T Sl ]

(D) WIctarg URacH TR W40 s 1 THHHRI TG TSl ol
i few e fomed € € WIS -

1. 0 (A), (B) IR (D)
2 &4 (A), (B) IR (C)

3.(A), (B
4 B0 (B),

wcw?ru)
B), CHT{[D

Options :

878270206813. 1
878270206814. 2
878270206815. 3
878270206816. 4

Question Number : 70 Question Id : 87827052558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dropping of seeds in furrow lines in a continuous flow and covering them with soil is called as-

1. Hill dropping

2. Check row planting
3. Drilling

4 Broadcasting

Options:

878270206817. 1
878270206818. 2
878270206819. 3



878270206820. 4

Question Number : 70 Question Id : 87827052558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dtoll @i ad Udig H ®Ral § FREr 3k 32 g1 9 g1 ogl Jidl & -

2 =@ I @it
3. fafeim
4. FEHIRET

Options :

878270206817. 1
878270206818. 2
878270206819. 3

878270206820. 4

Question Number : 71 Question Id : 87827052559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statements regarding pest management in rice and choose correct options-
(A). ETL for rice earhead bug in milky stage is 109 bugs / hill.

(B). Use of synthetic pyrethroids may cause resurgence of sucking pest in rice.

(C). Tip drying and orange discoloration of rice leaves is a typical symptom of Recilia dorsalis.

(D). Alternate wetting and drying is a good management technique for controlling B.P.H. in rice.
Choose the correct answer from the options given below:

1. (A),
2. (A),
3. (A),
4.(B),

B) and (D) only.
B) and (C) only.
B), (C) and (D).
C) and (D) only

—_— e e
e e—

Options :

878270206821. 1
878270206822. 2
878270206823. 3
878270206824. 4

Question Number : 71 Question Id : 87827052559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1%  Bie et B Hey A Fgfied U R GER Siive 3R 981 S &1 -

(A) ST Sfaw #9190 TUNRS BIC o [l Seita. 100 TR 31
(B) GGt WEAYIEE o JUUH ¥ 710a ¥ U6 BIC &1 (oM &l bdl 3l

o

(C) feu T 3R et o Ull o1 TR 1 H e R SR 1 U fafIy e 3|
D) arge H . 0. T ! i & & o Uafadt &0 9 fie aeert iR QUM U6 ol HaYH dd-1 o
Frd U e faded & € 98 SR |

1. %9 (A), (B) AR (D)

2 Bad (A), (B) IR (C)
3.(A), (B), [c)ai‘r{()

4 $ad (B), (C) AR (D)

Options :

878270206821. 1
878270206822. 2
878270206823. 3
878270206824. 4

Question Number : 72 Question Id : 87827052560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hand picking and killing of insects in field is a-

1. Mechanical method.
2. Cultural method

3. Biological method.
4 Preventive method

Options:
878270206825. 1

878270206826. 2



878270206827. 3
878270206828. 4

Question Number : 72 Question Id : 87827052560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Td ¥ 1Y Y DIl Bl AT AR AF FH &

1. gifa® 5fY
2 dae fafy
3. wifd® fafy
4 TYTHSD ATy

Options:

878270206825. 1
878270206826. 2
878270206827. 3

878270206828. 4

Question Number : 73 Question Id : 87827052561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

National Bureau of Agricultural Insect Resources (NBAIR) is located at-

1. Chennai, Tamilnadu
2. New Delhi

3. Bengaluru, Karnataka
4 Karnal, Haryana

Options :
878270206829. 1

878270206830. 2



878270206831. 3
878270206832. 4

Question Number : 73 Question Id : 87827052561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

es

FTT BN Dl JE1e o1 (THURR) Rud § -

1. s, AHCHIS
2. 73 fecel

3. ST, Bl
4. DA (R

Options:

878270206829. 1
878270206830. 2
878270206831. 3

878270206832. 4

Question Number : 74 Question Id : 87827052562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll

(Term) (Coined by)

(A). Ecology (). Ernst Hackel

(B). Pheromone (1. Raymond C. Bushland

(C). Integrated control |(lll). Karlson and Luscher

(D). Pest management|(IV). V. Stern

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A)- (1), (B) - (1), (C} - (IV), (D) - (11}
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)

Options :

878270206833. 1
878270206834. 2
878270206835. 3
878270206836. 4

Question Number : 74 Question Id : 87827052562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tai-1 9 Gl-1| » AT i
- -l

(RTe5) (&TRT 7181 7740)

(A) URfUfet (1) 32 g

(B) TBLHA (1) s 6 Ees
(C) Udidd Ha=|(I) HTeET SR TER
(D)BlewsyT (V) d &=

-Td feu e [9@vcdl 9§ |8l SR 4.

1. (A) - (1), (B) - (I1), (C) - (1), (D) - (IV)
2 (A) - (1), (B) - |||} (C) - (IV). (D) - (I)
3. (A) - (1), (B) - (II}, (C) - (IV), (D) - (Il
4. (A) - (1), (B) - {WJ (C) - (1), (D) - (1)

Options:

878270206833. 1
878270206834. 2
878270206835. 3
878270206836. 4

Question Number : 75 Question Id : 87827052563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct sequence of organs in the alimentary canal of insects, starting from mouth-
(A). lleum

(B). Oesophagous

(C). Crop

(D). Pharynx

Choose the correct answer from the options given below:

(D), (B), (C), (A)
(A), (B), (C), (D)
(B), (A), (D), (C)
(C), (B), (D), (A)

1.
2.
3
4
Options :

878270206837. 1
878270206838. 2
878270206839. 3

878270206840. 4

Question Number : 75 Question Id : 87827052563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TG Y YRR Bl DI &I TR el o 371 & Tol 3HIHH &1 99 B -
(A) SieEH
(B) I

(C) 39YE (P10)
(D) T
I feu e fasedf § © T8 SR |

1.(D), (B), (C
2.(A), (B), (C

3. (B), (A). (

4.(C), (B), (

). (A
), (D
). (C
). (A

o d

Options :

878270206837. 1
878270206838. 2
878270206839. 3
878270206840. 4



